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BACHELOR OF COMMERCE 

(GENERAL) (BCOMG) 

Term-End Examination 

December, 2024 

BCOS–183 : COMPUTER APPLICATION IN 

BUSINESS 

 Time : 3 Hours    Maximum Marks : 100 

Note : Answer any five questions. All questions 

carry equal marks.  

1. (a) Define Computer Applications. Explain its 

importance in business. 10 
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(b) Briefly describe the use of computers of 

Military and Defence. 10 

2. Explain the following with the help of  

examples :   10+10 

(a) Wide Area Network 

(b) Saving PPT files in Cloud 

3. What do you understand by Data Models ? 

Name any three data models and discuss their 

salient features. 5+15 

4. Explain the advantages of the following 

features of Microsoft Word : 10+10 

(a) Indenting 

(b) Equation Editor  

5. What is the significance of Utility Programs ? 

Discuss any two programs. 8+12 
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6. Comment on the following statements : 10+10 

(a) Earning advertisement revenue from 

YouTube is a challenge. 

(b) Two-factor authentication process is more 

reliable. 

7. Write short notes on any four of the following : 

4×5=20 

(a) Free and Open Software 

(b) URL 

(c) Regression 

(d) ERP 

(e) NEFT 

8. Distinguish between the following : 10+10 

(a) Android Operating System and Windows 

Operating System  

(b) SMTP and POP 
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okf.kT; esa Lukrd (lkekU;)  

(ch- lh- vks- ,e- th-) 

l=kkar ijh{kk 

fnlEcj] 2024 

ch- lh- vks- ,l--183 % O;kikj esa dEI;wVj dk 

vuqiz;ksx 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % fdUgha ik ¡p iz'uksa ds mÙkj nhft,A lHkh iz'uksa ds 

vad leku gSaA  

1- (v) dEI;wVj vuqiz;ksxksa dks ifjHkkf"kr dhft,A 

O;olk; eas muds egÙo dh O;k[;k dhft,A  10 
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(c) lsuk vkSj j{kk esa dEI;wVj ds mi;ksx dk la{ksi esa 

o.kZu dhft,A 10 

2- fuEufyf[kr dks mnkgj.kksa dh lgk;rk ls le>kb, % 

10+10 

(v) okbM ,fj;k usVodZ 

(c) DykmM eas ih- ih- Vh- iQkbyksa dks lgstuk 

3- MsVk ekWMy ls vki D;k le>rs gSa \ fdUgha rhu MsVk 

ekWMyksa ds uke crkb, vkSj mudh eq[; fo'ks"krkvksa ij 

ppkZ dhft,A  5$15 

4- ekbØkslkW¶V oMZ dh fuEufyf[kr fo'ks"krkvksa ds ykHkksa 

dh O;k[;k dhft, % 10$10 

(v) b.Ms¯.Vx (Indenting) 

(c) lehdj.k laiknd 
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5- mi;ksfxrk dk;ZØeksa dk D;k egRo gS \ fdUgha nks 

dk;ZØeksa ij ppkZ dhft,A 8$12 

6- fuEufyf[kr dFkuksa ij fVIif.k;k¡ dhft, % 10$10 

(v) ;wV~;wc ls foKkiu jktLo vftZr djuk ,d 

pqukSrh gSA 

(c) nks&dkjd izek.khdj.k izfØ;k vf/d  

fo'oluh; gSA 

7- fuEufyf[kr esa ls fdUgha pkj ij laf{kIr fVIif.k;k¡ 

fyf[k, %   4×5=20 

(v) eq¶r vkSj vksiu lkW¶Vos;j 

(c) ;w- vkj- ,y- 

(l) izfrxeu 
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(n) bZ- vkj- ih-

(b) ,u- bZ- ,iQ- Vh-

8- fuEufyf[kr esa vUrj dhft, % 10$10 

(v) ,aMªkWbM vkWijsfVax flLVe vkSj foaMkst

vkWijsfVax flLVe

(c) ,l- ,e- Vh- ih- vkSj ih- vks- ih-  
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